
Assembly Instruction

19 pcs

Assembly by an adult.

Small parts not for child or any individuals who have a tendency to place 
inedible objects in their mouths. 

This products contain sharp points and should be assembled by adult only.

Please follow the installation direction to assembling.

WARNING:

本产品组装前含有小物件，请在组装前不要让小朋友接近，防止小物件
被小朋友误食，组装完成后才能提供给小朋友使用。

本产品配件中可能存在尖点，请在组装时不要让小朋友接触。

请严格按照此说明书安装步骤组装。

70801



1 2

70801

x 11 x 12 x 15

x 16 x 27

x 13 x 14

x 18

M4*25 M4*32 M4*45 M4*13

x 110 x 1(set)+111

x 1+112 x 6+113 x 7+114 x 2+115 x 6+116 x 4+117

x 29

1

13 x 4

15 x 22
3

4



5
6

17 x 2

17 x 2

16 x 2

9 x 2

8

10

11

11

70801

3

5

4

6

13 x 2

14 x 7

12
16 x 4

7 x 2


